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Note: 1) Attempt any five questions.
fos=4Y afe ueHf @Y g1 HA
ii) All questions carry equal marks.
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iii)In case of any doubt or dispute the English version
question should be treated as final.
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Q Solve cosxdy= y(sinx —y}dx. using Bernoulli's.
q-lcit &1 IJIAN PP cosxdy= p(sinx — y)dx DI &A

F|

b) ) Solve the Linear differential equation

5in2x—y—y =tanx,
dx

M radper writawor sinzx%—y:tanx 3 & HorN

2. a) Solve (r+sing—cos)dr+r(sinf+cos§)do =0.

(r +sin@-cos@) dr + r(sin@+ cos§) d6 = 0 B &A DR
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' tion.
_b) /Solve the differential equati

ap2 +14D -8)y=¢ *cos2x

(D’ -
ID2 +14D -8)y =€" cos2x @I
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3') Solve (Dz +4)y =tan 2x by using method of variation qf

" parameters.

it 5t Ry $t AR &1 SN FRD (D? +4)y = tan 2x
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4. a) Showthat — is solenoidal.
r
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feand fs ~3 solenoidal gt
b) Show that the vector
(% — y2)i+(y* —zx)j+(z* - )k
is Irrotational. Find it's scalar potential.

frard f dgexr (2 —y2)i+( —20)j+(z* — )k
Irrotational 21 Ig 319 &9AT BT UdT S|

Green's theorem for _L[?’I?' —3}’2] dx+[4y —6xy|dy .

5.
Where? is the region bounded by x=0,y=0andx+ y =1.
7 & T B Fefe L[3xzh_8y2] dx+[4y —6xy)dy
el C, x=0,y=0 3R x+y=1J R gam &= B
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6. a) Show that f(Z) = z= is differentiable but not analytic at
origin .
Rart 5 f(z) =z sawa & A & R RALeuo®
el 81

b) Show that u(x,y}ze"hsiHEJr is harmonic and

v determine it's Harmonic conjugate.
ey fF u(x, y) =e **sin2y gMifAS 8 ik zg FraiRa
R f a1 gl wgw &

tan £

7. u]) By IResidue theorem, Evaluate j: .2 >

dz , where C:1740=

4

tan z

srads i gr, e R 4 =

b}y Using Cauchy integral theorem, to evaluate the integral

dz g1 C:\Zi=2

2z
| e dz , where C is the circle |[Z] = 2.

(z=D*(z-3)
2=

[—= dz v v @1 ST A g, Cauchy

e(z=1%(z-3) i
Iy @1 gedie B & fore C o1& g9 |Z|=2 3!

8. a) Solve 2pt+yigt =z
x2p2+y2q2 =22 P & Diford |

b) Solve (D2 —4DD' +4[)12 )Z = cos(x—2y)
(D2 - 4DD' +4D" )Z = cos(x —2y) ' g FRAI
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